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The figures in the margin indicate full marks.

Group - A 2x10

1. The S.D. of 32 numbers is 5. If the sum of the numbers be 80, then the sum of the squares of the
numbers is—

(A) 100 (B) 1005
(C) 200 (D) 1000

2. Lagrange’s Interpolation formula deals with—
(A) Equispaced arguments only (B) Unequispaced arguments only
(C) Both (A) and (B) are correct (D) None of these.
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4. T . L.
he quartile deviation of the following numbers :

22,17, 25, 20, 29, 27, 35
o e
(A) 25 (B) 3.5
(C) 45 (D) None of these.
5. 30 students in a class did a survey of their favourite movie series and recorded the results as follows : %
l Movie series | Harry Potter | High School Musical | Twilight | Charley Chaplin \Othcrs\
I Frequency 6 9 10 2 EER
Then the relative frequency for High School Musical is—
(A) 0.3 (B) 0.23
6. The AM and GM of two numbers are 25 and 15 respectively. The two numbers are—
(A) 9, 5 (B) 25,5
(C) 40, 45 (D) 45,5

7. Which one is the source of primary data?
(B) Newspaper

(A) The Statistical Abstract of India
(D) Reserve Bank of India Bulletin.

(C) Report of enquiry commission
8. From which diagram median can be calculated?
(A) Bar diagram (B) Line diagram
(C) Histogram (D) Ogive.
9. The Geometric Mean of 3, 12 and 48 is—
B) 1
(D) None of these.

(A) 10
©) 12
10. The mid value of a class interval is 42. If the class size is 10, then the upper and lower limit of the
class are—
(A) 37 and 47 (B) 47 and 37
(D) None of these.

(C) 37.5 and 47.5
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2. latormation of a data is given by -

Age tn vear

The premium payable at the age of 22 years is
(A) 26.03 (B) 26.15

(7]
.

For the following distribution :

3
]

Class ~interval | 10-20 | 20-30 | 30-40 | 40-50|
LFrequency 8 4 | 16 | 17 |

The value of Karl Pearson’s measure of skewness is—
(A) —-0.12 (B) -0.13
(C) —-0.17 (D) -0.19

4. The value of Median, Ist Quartile and 3rd Quartile of the following series are :

391, 384, 591, 407, 670, 522, 777, 773, 2488, 1490

(A) Median = 630.5; Q1 = 403; Q3 = 955.25
(B) Median = 631.5; Q1 = 404; Q3 = 957.25
(C) Median = 632.5; Q1 = 405; Q3 = 956.25

(D) Median = 630.5; Q1 = 406; Q3 = 957.25

5. The mean of 5 observations is 4.4 and the variance is 8.24. If three of the 5 observations are 1,2
and 6 find the other two.
(A) 4 and 9
(C) 6 and 12

(B) 5and 11
(D) 7 and 13




